5%

TR ; Py P = PN KB BiEfE - TEK
REER HAE(E (mg/L) T RATFHREK) T K55 FRK) TRRMEK(EEELE) BERE (mg/L) A& T Er
BUKEAR R2.4.16 | R279 | R2.10.45 | R3.1.14 | R2.4.16 | R2.79 | R2.10.15 | R3.1.14 | R2.4.16 | R2514 | R26.11 R2.79 | R2.8.13 | R2.9.10 | R2.10.15 | R2.11.12 | R2.12.10 | R3.1.14 | R3.2.18 | R3.34 }%’7}@?} B R2.7.9 R2.7.9
;ﬁé?]za?fx; J 10:55 11:15 11:02 10:40 11:10 11:43 11:27 11:00 10:39 10:34 11:20 10:59 11:17 11:20 10:43 10:19 11:36 10:23 10:23 11:09 k7] %l 11:15 11:43
KR BEh ED) M rEh (24 D) 5 (20 (20 (20 (20 £Y BEh BEh 5 £Y 5 Bh Bh Bh E3E ED) ED)
Sum (C) 135 26.0 17.2 8.7 14.0 272 17.1 8.0 14.9 25.3 28.2 285 33.3 34.3 17.3 11.0 9.3 9.1 7.6 12.7 Zh_(C) 26.0 272
JKE (°C) 15.4 16.1 16.1 15.5 15.4 15.6 15.8 15.3 15.2 19.0 21.5 22.8 25.0 26.8 21.0 175 14.6 115 115 12.9 JKE (°C) 16.1 15.6
1| — B 100fE LLF 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1]1,3->90870X2(D-D) | 005 e <0.0001]  <0.0001
APNZE] BHIhAZWNIE B (=) B (=) EEIG) fetk ()| () | B | B () | B | B | B () | B | B | B | B | B | BiE(-) 2|EPN 0.004 BRFE <0.00004| <0.00004
3|ARIVLRUZDIEEY 0.003LLF <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 3[McPA 0.005 BB | <0.00005| <0.00005
4[KEBRUVZDIEEY 0.0005LLF <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 4|7 E7z—k 0.006 BR-EH <0.00006| <0.00006
5| LY RUZDIEEY 0.01LF <0.001 <0.001 <0.001 <0.001 <0.001 5|AVXHFA 0.005 BRA <0.00005| <0.00005
6|ShRUZDILEY 0.01LUF <0.001 <0.001 <0.001 <0.001 <0.001 6|4V FaFAS (PT) 0.3 b - WA R <0.0004]  <0.0004
1ERRUZDIEEY 001LF 0.001 0.001 <0.001 <0.001 £0.001 1[4 7R HRZ (1BP) 0.09 FEH <0.00008| <0.00008
| s[AmYOLIEE 0.02LLF <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 8|43/585Y 0.006 - EA <0.005 <0.005
IRIERTIEEES 0.04F <0.004 <0.004 <0.004 <0.004 <0.004 9|TrozoTOvsR 0.08 - Al <0.0008]__ <0.0008
0[S 7 NAEPAA RUIERS T 001LF <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 104 F > U SREHEER) 0.03 B RF, BEA <0.0003]  <0.0003
| EMEERR U HEHMRETESR 10T 2.13 1.81 0.25 0.37 0.68 11[/JL73JJLINAC) 0.02 BRFE <0.0002]  <0.0002
12|7vHERUVZDILEY 0.8LLF <0.08 <0.08 <0.08 £0.08 <0.08 12]¥vTE> 0.3 Al <0.003 <0.003
13|EF5SHRRUZDIEEY 1.0UF <0.02 <0.02 <0.02 <0.02 0.02 13[F LR R—k 0.02 BRI R AEH <0.001 <0.001
| 14|miELRE 0.002LLF <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 14[50)L=Fa7z> (CNP) 0.0001 BREH <0.0001]__<0.0001
15[1.4-OA X 5> 0.05LLF <0.005 <0.005 <0.005 <0.005 <0.005 15[/ LEYKRR 0.003 BRA <0.00003|_<0.00003
16 r{;*/l'iz—n/z:];;:ll:;;fy 004LLF <0.001 <0.001 <0.001 <0.001 <0.001 16|~70040=L (TPN) 0.05 - EH <0.0005]  <0.0005
17]>50048 0.02LLF <0.001 <0.001 <0.001 <0.001 <0.001 17[>7 /KA (CYAP) 0.003 BRA <0.00003|_<0.00003
18|FFSZ00TFL Y 0.01 L F <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 18[Z&0JLARZ (DDVP) 0.008 BRA <0.00008|_<0.00008
g [19FUoRBTFL 0.01F <0.001 <0.001 <0.001 <0.001 <0.001 1957 vk 0.01 BB <0.001 <0.001
20[RotFY 0.01 L F <0.001 <0.001 <0.001 <0.001 <0.001 20| %> (CAT) 0.003 BREH <0.00003|_<0.00003
AIEE 0.6 L4 F <0.05 0.08 0.05 <0.05 o L 21[CART—=F 005 e <0.0005]  <0.0005
22|/ OCEEER 0.02LLF <0.002 <0.002 <0.002 <0.002 | 2847o/0 0.003 R EH <0.00003| <0.00003
s | 23|7a0tLL 0.06LLF 0.009 0012 0.004 0.005 23|52 oh LR 001 BEH <00001|  <0.0001
APV 0.03LF <0.002 <0.002 <0.002 <0.002 = | 24[FH5 L 0.02 R B <0.0002|  <0.0002
| 25|70 ES/O0O0A%Y 01T 0.005 0.006 0.004 0.005 25|FASHILT 0.08 BREl <0.0008] <0.0008
IHEESH 0.01LLF <0.001 <0.001 <0.001 <0.001 26| FA T7F—FAFIL 03 R EH <0.003 <0.003
18 | _27[#rUNOAT 01T 0.022 0.027 0.013 0.017 5 [ 27[ruZREL 0.006 BREH <0.00006| <0.00006
28|k YO OEEFEE 0.03LLF <0.002 <0.002 <0.002 <0.002 " |_28[rJ%0)Lk (DEP) 0.005 R A <0.00005| <0.00005
29[ BESH/OOAIY 0.03F 0.006 0.007 0.003 0.005 29[FUZILS)S 0.06 BREH <0.0006]  <0.0006
30[TaERILL 0.09LF 0.002 0.002 0.002 0.002 30[FF0/85F 0.03 BB <0.0003]  <0.0003
g | 31|[ARILLTILTER 0.08LLF <0.002 <0.002 <0.002 <0.002 31[/85a—+ 0.005 BRE# <0.001 <0.001
| 2| HEMRUEDLLED 10LLF <0.005 <0.005 <0.005 <0.005 <0.005 32|7470=)L 0.0005 R B <0.000005] <0.000005
B[FILZ=VLRUVZDILEY 02LLF <0.02 <0.02 <0.02 <0.02 <0.02 33[Zx=FOF 4> (MEP) 0.01 - EH RERER <0.00003] <0.00003
| 4 BRUZDILEY 03T 0.04 0.15 0.34 0.27 <0.03 34|72/ )L (BPMC) 0.03 R EH <0.0003]  <0.0003
B|FARUVZDIEEY 10T <0.01 <0.01 <0.01 <0.01 <0.01 35|27z FT—K(PAP) 0.007 R EH <0.00004| <0.00004
36[FEU D LRUZDIEEY 200LLF 12.6 12.2 9.9 9.6 21.7 36743k R 0.02 BREH <0.0001]  <0.0001
3 AVRUZDILEY 0.05F 0.10 0.14 0.048 0.042 <0.005 37[oLTSFH L 0.03 BEFH <0.0003]_<0.0003
38[iE{E (A 200LLF 19.6 20.3 13.9 14.4 19.4 16.8 185 17.9 17.2 18.2 14.1 16.6 16.8 16.8 15.9 16.2 38|70 SR 0.09 BEA <0.0009]  <0.0009
P[ANS DL, ITRIILE(FE) 300 144 139 96.3 925 108 109 107 110 39|FOFA KR 0.007 BRE <0.00004| <0.00004
| 40|RFEZEEY 500LLF 263 247 188 189 219 218 204 216 40| 7OEHFEF 0.05 BREH <0.0005]_<0.0005
A4 FREEEE 02l F <0.02 <0.02 <0.02 <0.02 <0.02 41 [FORFJI—)L 0.03 -l <0.0003]  <0.0003
R[CIAFRZY 0.00001LLF <0.000001 <0.000001 <0.000001 <0.000001 <0.000001]<0.000001 [ <0.000001 2[Rz 0.02 BEA <0.0002|  <0.0002
4A3[2-AF WAYRILIA—IL 0.00001LLF <0.000001 <0.000001 <0.000001 <0.000001 <0.000001]<0.000001]<0.000001 43RBT 02 BREH <0.002 <0.002
44| A A R E R 0.02LF <0.002 <0.002 <0.002 <0.002 <0.002 44| ROTAA) Y 0.3 BREH R IRRHE <0.001 <0.001
457 /— L5 0.0054F <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 45(RUT75HNT 0.04 R EH <0.0004] <0.0004
46| H#EMZE(TOC) 3UT <0.3 <0.3 <0.3 <0.3 0.6 0.5 0.4 0.8 0.5 0.6 0.8 0.4 0.4 0.3 0.6 0.6 46| RRFF7E—F 0.003 FRA <0.00005|_ <0.00005
47 [pH{E 58L1 F86LLT 7.5 7.6 8.0 7.8 7.6 7.7 7.7 7.8 78 78 7.7 78 7.7 7.8 7.6 7.7 47[=RSFAL (RS 07 BRE <0.0005]  <0.0005
| 48[k ERTHWCE EELL EELL BELRA BERA| EEGL] EEAL] ER4L] ER4L] ER4L] ER4L] BEEGL] ER4L] ER4L] ER4L] ERGL] EEGL 48[AV3)L 0.03 R <0.0003]__ <0.0003
H[RR EETHEWNIE EELL EELL RibkRE RibkE2| EEGL| ERGL| EEGL| EEGL| EELGL| EELGL| ERGL| EEGL| EEGL| EEGL| EELGL| ERGL 49[A85F T IL 0.2 5 - WA <0.0005]  <0.0005
| 50| SELLTF < 1 2 2 <1 <1 <1 <1 < < < < < < < 4l
S51AE 2ELLT <0.1 0.2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
B4Z1E (mg/L)
HUZOFEVRUZDIEEY 0.02LF <0.0002 <0.0002
2|5V RUZDIEEY 0.002LLF (*1) 0.0009 <0.0002
3|I=w T L RUZDILEY 0.02LLF <0.001
4R E
5(12-2/00T42 0.004LLF <0.0004 <0.0004
6|R
x 1R &
g B [= 04T <0.001 <0.001
9 IHIVERD (2-TFILAFIIL) 0.08 4 F <0.006 <0.006
w | _10[ERIEHER 0.6LLF
Elalx &
12| —FbiE SR 0.6LLF
B [3[Syon7ar=rJL 0.01LLF (*1) <0001
g ifgmiyua—» 0.02LLF (1) 0.001
IHEES 1T 0 0
16|ZBRIER 1UTF 0.48 0.50 0.56 0.50 0.62 0.52 0.44 0.56 0.54 0.60 0.56 0.56
BB DL, RTRIHLE FBEE) 10~100 144 139 96.3 92.5 108 109 107 110
18T AV RUZDIEEY 0.01UTF 0.10 0.14 0.048 0.042 <0.005
5% |19 [stEmt i BR 20LLTF 8.8 2.0
20[1,1,1-k)HOATRY 0.3LLF <0.0005 <0.0005
s | 21[AFIL-t-TFILT—F L (MTBE) 0.02LLF <0.002 <0.002
22| FHEME KMnOGEHEE) (* 2) 3T <0.3 <0.3 <0.3 <0.3 0.6 0.5 0.4 0.8 0.5 0.6 0.8 0.4 0.4 0.3 0.6 0.6
15 | 23| 2R KA (TON) 3LUTF <1 1 a
| 24| ZFKZEY 30~200LLF 263 247 188 189 219 218 204 216
g L25AE 1EUT <0.1 0.2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <01 <01 <01 <01 <01 <01
26|pHfE 1582 E 7.5 7.6 8.0 7.8 7.6 7.7 7.1 7.8 7.8 7.8 7.7 7.8 7.7 7.8 7.6 7.7
| 27|EBHE GV YTER —1~0 - 04 - 0.1 - 02
28| RREREME (HPC) 20001 62 45 2
9[11->y0aIFLy 0.1LLTF <0.001 <0.001 <0.001
0[FIZ=DLRUZDILEY 01T <0.02 <0.02 <0.02 <0.02 <0.02
31 PFOS%XPFOA( * 3) 0.00005 L T (x1) <0.000001 <0.000001 0.000004
*1:HE
* 2 HAEIFH #46(TOC)TH A
* 3:PFOS(RILIINABA Y EU X ILKRUEE) RUPFOA(NRILI LA B VR ER)
HUTHEEE RBE —| ) [ B[ B | B B | BEC) | BEC) | BE()
"‘ RIS AR — 0] o] o] of 0] 0] 0] 0
g PR FHEEE TR45H UFK) — 0.09 0.09 0.07 0.07 0.09 0.10 0.07 0.10 0.10 0.11 0.05 0.06
i T 5553H (RK) — 0.19 0.19 0.15 0.18 0.15 0.21 0.20 0.23 0.21 0.19 0.16 0.21
N S TR45H RK) 1pg-TEQ/L]| 0.023
SAxv R T R55H URK) 1pg-TEQ/L] 0.019




